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Ochil Shawl

Yarn: 4ply/fingering – 250m of main colour, 1 00m of contrast 1 , 50m of contrast 2, 3, 4

4mm needles (80cm circular recommended)

21 sts per 4"/1 0cm in stocking stitch on 4mm needles (unblocked)

Block to 60" wingspan, 22.5" depth

Alternative stripe sequence

Rows 1 -9 Main colour

Rows 1 0-1 1 , Contrast 1

Rows 1 2-1 3, Contrast 2

Rows 1 4-1 5, Main colour

Rows 1 6-27: Repeat rows 1 0-1 5 twice.

.....

Rows 98-1 1 5: Repeat rows 1 0-1 5 three

times.

Abbreviations

K – Knit

P – Purl

YO –Yarn over

sts – Stitches

PM – Place marker

SM – Slip marker

C - Colour
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Garter Stitch Tab

In main colour cast on 4 sts. Knit 6 rows.

Pick up and knit 3 sts from side of square, 4

sts along cast on edge.Total 1 1 sts

Row 1 :WS: K4,YO, P to last 4 sts,YO, K4

1 3sts

Row 2: RS: K4,YO, K2,YO, PM, K1 , PM,YO,

K2,YO, K4 1 7sts

Row 3: K4,YO, P to last 4 sts,YO, K4 1 9 sts

Row 4: K4,YO, K to marker,YO, SM, K1 , SM,

YO, Knit to last 4 sts,YO, K4 23 sts

Row 5:As Row 3 25 sts

Rows 6-9 - Repeat Rows 4&5 twice 37 sts

Rows 1 0 – 1 3, Change to Contrast 1 :

Repeat rows 4&5 twice 49 sts

Rows 1 4-1 5, Change to Main C: Repeat

rows 4&5 once 55 sts

Rows 1 6-1 9, Change to Contrast 2, Repeat

rows 4&5 twice 67 sts

Rows 20-21 , Change to Main C: Repeat

rows 4&5 once 73 sts

Rows 22-25, Change to Contrast 1 : Repeat

rows 4&5 twice 85 sts

Rows 26-27, Change to Main C: Repeat

rows 4&5 once 91 sts

Row 28: K4,YO, K1 , (YO, K2tog) to marker,

YO, SM, K1 , SM,YO, (SSK,YO) to last 5 sts,

K1 ,Yo, K4 95 sts

Row 29: K4,YO, K to marker, SM, P1 , SM, K

to last 4 sts,YO, K4 97 sts

Row 30: K4,YO, K2, (YO, K2tog) to marker,

YO, SM, K1 , SM,YO, (SSK,YO) to last 6 sts,

K2,YO, K4 1 01 sts

Row 31 :As row 29 1 03 sts

Rows 32-39: Repeat last 4 rows twice more

1 27 sts

Row 40-43: Repeat Rows 4&5 twice 1 39 sts

Row 44: Change to Contrast 3 K4,YO, K3,

[sl ip 2, K6] to 6 sts before marker, Sl ip 2, K4,

YO, SM, K1 , SM,YO, K4, Sl ip 2, [K6, sl ip 2] to

last 7 sts, K3,YO, K4 1 43 sts

Row 45: K4,YO, Purl contrast sts, sl ip main

colour sts to last 4 sts,YO, K4 1 45 sts

Row 46: K4,YO, K5, [sl ip 2, K6] to 7 sts

before marker, Sl ip 2, K5,YO, SM, K1 , SM,YO,

K5, Sl ip 2, [K6, sl ip 2] to last 9 sts, K5,YO,

K4 1 49 sts

Row 47: as row 45 1 51 sts

Row 48-49 change to Main C, Repeat rows

4&5 once 1 57 sts

Row 50: Change to Contrast 4, K4,YO, K5,

[sl ip 2, K6] to 5 sts before marker, Sl ip 2, K3,

YO, SM, K1 , SM,YO, K3, Sl ip 2, [K6, sl ip 2] to

last 9 sts, K5,YO, K4 1 61 sts

Row 51 :As row 45 1 63 sts

Row 52: K4,YO, K7, [sl ip 2, K6] to 6 sts

before marker, Sl ip 2, K4,YO, SM, K1 , SM,YO,

K4, Sl ip 2, [K6, sl ip 2] to last 1 1 sts, K7,YO,

K4 1 67 sts

Row 53:As row 45 1 69 sts

Row 54-57: change to Main C, Repeat rows

4&5 twice. 1 81 sts

Row 58:As row 30 1 85 sts

Row 59:As row 29 1 87 sts

Row 60:As row 28 1 91 sts

Row 61 :As row 29 1 93 sts

Row 62-65: Repeat rows 58-61 once more

205 sts

Row 66-69: Repeat rows 4&5 twice. 21 7 sts

Row 70: Change to contrast 4, K4,YO, K3,

[sl ip 2, K6] to 5 sts before marker, Sl ip 2, K3,

YO, SM, K1 , SM,YO, K3, Sl ip 2, [K6, sl ip 2] to

last 7 sts, K3,YO, K4 221 sts

Row 71 :As row 45 223 sts

Row 72: K4,YO, K5, [sl ip 2, K6] to 6 sts

before marker, Sl ip 2, K4,YO, SM, K1 , SM,YO,

K4, Sl ip 2, [K6, sl ip 2] to last 9 sts, K5,YO,

K4 227 sts

Row 73:As row 45 229 sts

Row 74-75: change to Main C, Repeat rows

4&5 once 235 sts

Row 76: Change to contrast 3, K4,YO, K5,

[sl ip 2, K6] to 4 sts before marker, Sl ip 2, K2,

YO, SM, K1 , SM,YO, K2, Sl ip 2, [K6, sl ip 2] to

last 9 sts, K5,YO, K4 239 sts

Row 77:As row 45 241 sts

Row 78: K4,YO, K7, [sl ip 2, K6] to 5 sts

before marker, Sl ip 2, K3,YO, SM, K1 , SM,YO,

K3, Sl ip 2, [K6, sl ip 2] to last 1 1 sts, K7,YO,

K4 245 sts

Row 79:As row 45 247 sts

Rows 80-83: change to Main C, Repeat

rows 4&5 twice 259 sts

Row 84-95: as rows 28-39 295 sts

Row 96-97 Repeat rows 4&5 twice 301 sts

Rows 98-1 1 5 as rows 1 0-27 355 sts

Row 1 1 6: as row 4 359 sts

Row 1 1 7-1 20: Knit al l sts 359 sts

Cast off al l stitches using a stretchy cast off,

such as the decrease cast off: K2, * insert

the left hand needle back into these 2 sts

on the right hand needle, K2togtbl, K1 ,

repeat from * until al l stitches are cast off.

Weave in ends and wet block to

measurements.

This pattern uses al l of the main colour, and a bit over one minibal l of Contrast 1 , but there

is plenty left of the other shades. If you want to finish the shawl a bit early to be sure of

having enough yarn (the cast off takes about 5g) then you can do the alternative stripe

sequence which can be finished after only two stripes without disrupting the symmetry.

You can also start the garter stitch edging straight after the final contrast stripe on row

1 1 4.

If you are not comfortable with the garter stitch tab then you can just cast on 1 1 sts and

proceed with row 1 .The garter stitch tab gives a neat, uninterrupted top edge that

continues into the 4 st garter stitch border worked integrally throughout.

The stitch count increases by 4 stitches on every right side row and 2 stitches every

wrong side row.



Garter Stitch Tab

In main colour cast on 4 sts. Knit 6 rows.

Pick up and knit 3 sts from side of square, 4

sts along cast on edge.Total 1 1 sts

Row 1 :WS: K4,YO, P to last 4 sts,YO, K4

1 3sts

Row 2: RS: K4,YO, K2,YO, PM, K1 , PM,YO,

K2,YO, K4 1 7sts

Row 3: K4,YO, P to last 4 sts,YO, K4 1 9 sts

Row 4: K4,YO, K to marker,YO, SM, K1 , SM,

YO, Knit to last 4 sts,YO, K4 23 sts

Row 5:As Row 3 25 sts

Rows 6-9 - Repeat Rows 4&5 twice 37 sts

Rows 1 0 – 1 3, Change to Contrast 1 :

Repeat rows 4&5 twice 49 sts

Rows 1 4-1 5, Change to Main C: Repeat

rows 4&5 once 55 sts

Rows 1 6-1 9, Change to Contrast 2, Repeat

rows 4&5 twice 67 sts

Rows 20-21 , Change to Main C: Repeat

rows 4&5 once 73 sts

Rows 22-25, Change to Contrast 1 : Repeat

rows 4&5 twice 85 sts

Rows 26-27, Change to Main C: Repeat

rows 4&5 once 91 sts

Row 28: K4,YO, K1 , (YO, K2tog) to marker,

YO, SM, K1 , SM,YO, (SSK,YO) to last 5 sts,

K1 ,Yo, K4 95 sts

Row 29: K4,YO, K to marker, SM, P1 , SM, K

to last 4 sts,YO, K4 97 sts

Row 30: K4,YO, K2, (YO, K2tog) to marker,

YO, SM, K1 , SM,YO, (SSK,YO) to last 6 sts,

K2,YO, K4 1 01 sts

Row 31 :As row 29 1 03 sts

Rows 32-39: Repeat last 4 rows twice more

1 27 sts

Row 40-43: Repeat Rows 4&5 twice 1 39 sts

Row 44: Change to Contrast 3 K4,YO, K3,

[sl ip 2, K6] to 6 sts before marker, Sl ip 2, K4,

YO, SM, K1 , SM,YO, K4, Sl ip 2, [K6, sl ip 2] to

last 7 sts, K3,YO, K4 1 43 sts

Row 45: K4,YO, Purl contrast sts, sl ip main

colour sts to last 4 sts,YO, K4 1 45 sts

Row 46: K4,YO, K5, [sl ip 2, K6] to 7 sts

before marker, Sl ip 2, K5,YO, SM, K1 , SM,YO,

K5, Sl ip 2, [K6, sl ip 2] to last 9 sts, K5,YO,

K4 1 49 sts

Row 47: as row 45 1 51 sts

Row 48-49 change to Main C, Repeat rows

4&5 once 1 57 sts

Row 50: Change to Contrast 4, K4,YO, K5,

[sl ip 2, K6] to 5 sts before marker, Sl ip 2, K3,

YO, SM, K1 , SM,YO, K3, Sl ip 2, [K6, sl ip 2] to

last 9 sts, K5,YO, K4 1 61 sts

Row 51 :As row 45 1 63 sts

Row 52: K4,YO, K7, [sl ip 2, K6] to 6 sts

before marker, Sl ip 2, K4,YO, SM, K1 , SM,YO,

K4, Sl ip 2, [K6, sl ip 2] to last 1 1 sts, K7,YO,

K4 1 67 sts

Row 53:As row 45 1 69 sts

Row 54-57: change to Main C, Repeat rows

4&5 twice. 1 81 sts

Row 58:As row 30 1 85 sts

Row 59:As row 29 1 87 sts

Row 60:As row 28 1 91 sts

Row 61 :As row 29 1 93 sts

Row 62-65: Repeat rows 58-61 once more

205 sts

Row 66-69: Repeat rows 4&5 twice. 21 7 sts

Row 70: Change to contrast 4, K4,YO, K3,

[sl ip 2, K6] to 5 sts before marker, Sl ip 2, K3,

YO, SM, K1 , SM,YO, K3, Sl ip 2, [K6, sl ip 2] to

last 7 sts, K3,YO, K4 221 sts

Row 71 :As row 45 223 sts

Row 72: K4,YO, K5, [sl ip 2, K6] to 6 sts

before marker, Sl ip 2, K4,YO, SM, K1 , SM,YO,

K4, Sl ip 2, [K6, sl ip 2] to last 9 sts, K5,YO,

K4 227 sts

Row 73:As row 45 229 sts

Row 74-75: change to Main C, Repeat rows

4&5 once 235 sts

Row 76: Change to contrast 3, K4,YO, K5,

[sl ip 2, K6] to 4 sts before marker, Sl ip 2, K2,

YO, SM, K1 , SM,YO, K2, Sl ip 2, [K6, sl ip 2] to

last 9 sts, K5,YO, K4 239 sts

Row 77:As row 45 241 sts

Row 78: K4,YO, K7, [sl ip 2, K6] to 5 sts

before marker, Sl ip 2, K3,YO, SM, K1 , SM,YO,

K3, Sl ip 2, [K6, sl ip 2] to last 1 1 sts, K7,YO,

K4 245 sts

Row 79:As row 45 247 sts

Rows 80-83: change to Main C, Repeat

rows 4&5 twice 259 sts

Row 84-95: as rows 28-39 295 sts

Row 96-97 Repeat rows 4&5 twice 301 sts

Rows 98-1 1 5 as rows 1 0-27 355 sts

Row 1 1 6: as row 4 359 sts

Row 1 1 7-1 20: Knit al l sts 359 sts

Cast off al l stitches using a stretchy cast off,

such as the decrease cast off: K2, * insert

the left hand needle back into these 2 sts

on the right hand needle, K2togtbl, K1 ,

repeat from * until al l stitches are cast off.

Weave in ends and wet block to

measurements.

This pattern uses al l of the main colour, and a bit over one minibal l of Contrast 1 , but there

is plenty left of the other shades. If you want to finish the shawl a bit early to be sure of

having enough yarn (the cast off takes about 5g) then you can do the alternative stripe

sequence which can be finished after only two stripes without disrupting the symmetry.

You can also start the garter stitch edging straight after the final contrast stripe on row

1 1 4.

If you are not comfortable with the garter stitch tab then you can just cast on 1 1 sts and

proceed with row 1 .The garter stitch tab gives a neat, uninterrupted top edge that

continues into the 4 st garter stitch border worked integrally throughout.

The stitch count increases by 4 stitches on every right side row and 2 stitches every

wrong side row.



WCY-1 04

Ochil Shawl

Yarn: 4ply/fingering – 250m of main colour, 1 00m of contrast 1 , 50m of contrast 2, 3, 4

4mm needles (80cm circular recommended)

21 sts per 4"/1 0cm in stocking stitch on 4mm needles (unblocked)

Block to 60" wingspan, 22.5" depth

Alternative stripe sequence

Rows 1 -9 Main colour

Rows 1 0-1 1 , Contrast 1

Rows 1 2-1 3, Contrast 2

Rows 1 4-1 5, Main colour

Rows 1 6-27: Repeat rows 1 0-1 5 twice.

.....

Rows 98-1 1 5: Repeat rows 1 0-1 5 three

times.

Abbreviations

K – Knit

P – Purl

YO –Yarn over

sts – Stitches

PM – Place marker

SM – Slip marker

C - Colour

Made and printed in Scotland.

©Wee CountyYarns 201 5
All patterns are protected by the law of copyright and may not be reproduced either by
photocopying or other means.

For best results we recommend
Knitpro products.www.wee-county-yarns.co.uk

To sign up for our newsletter and stay informed of offers
simply fil l out the registration form on our website. Shown in 1 ball of JC Rennie Lambswool Cashmere 4ply Cronus, 2 JC

Rennie Minibal ls of Medium grey and one Minibal l each of Silver, Iris and
Confetti.




